Sackion St Dghizaizatian acd Madeliog -
T (-13)obp 23 )
Eismﬁrnbﬂ X4y = 400
Olectue & ,Aixﬁ_umm;ui —
y= 400 =% Lz0 Lo,4007)
Al = X {400 -%) Yz 400-x2 0 X2400
' ] (%-vadercepis)
AU sz Musge O
= 200
2 A
0 | Al)=(0(a)=0
200 [ A(ze)= (300X g00) = 40000
400 | Al4es) = (400)(c) = o
9 _q'z“ 9-2% %o
Jx | “2x%-a ¢ x*45
§ e
Hf 4 T -2x
Bil RV -
gy= @-24)(2-2)(%) (%~ 3)(% - )=
Y= (31 - 3y e 422 )(x) k=% . %= -

AN Bl ~3Ly? +4y? ¥= 15

%z 4,5

V' GRx I 92 ¢ 2% v(1.5)= 54

*

1‘1'{'@_&3{4 xt - 24y 4+ 2F)=0 V{45): D

& 5{13*5“?5-5:]-:. o




A - Xy, = % K20 42D
0 + ¥

i — =
o | 1o o, i

I . ‘ e IR .
I oty X 20 K L ol 2 3 T = Of2x + 3Ly 4+ Z 0
A o 5 i
B TR M - 5§ i -~ i 4
| i ’ k. ! - ! & 4

A Y - '] - -

A < | A -
B N o B

Loy

= J i . X
Gex + 4000 Acx >
]
C {}'\;I E -? 0 - .:;_;3 faTs o X 40 v o
&0

= 4o AT
& n

- —— i - SR %, ”
s .'f- 19, ) o

X - o, 008 =0 XT /o0 —) u = 800 Dirnensinass 100 £+ bu A




r’R=m ;.I@ .
R=2xp _ R (10— 0.2 (g-30))
= (30) uch Rz (10— b2 + )
"R (3m-i\(ln-oln) = ID'w).-- Qi + oy _
iTPx(ﬁ‘} 300 — ¢ leni ¥ \On =b.2n™ = —p .2y 4 ilu :
BRI oo~ © Peedpran™ ; _ Rz - 0.4y +ilp
Milat depndn  @uaceoa (N - g —He
0 —4n=0 S SRR o ol -
bRy~ e ;
_ n= 10 B - 4o !
~ Lo
. = ’R (H® m RN Ly ]
_____:grz_- J0+10= 4Bocpple, o :

i f&ta.:cb t'm}_( 3D = *5,D




B ad

= | ] i] jh E;nlhaa

V= 32 -Lh_.m V= 884 o® =xih
Surface area = % * +EL Cost (botom) = 20
| SA= x> 4 4_:‘[{%) Cost (Siﬁﬂqﬂﬂ\):c-
A4
"-"xl{'*? = xz,'_[z;&]e-l &iz ) ‘t‘C.',.E. 4-!:.{4‘)6;1\]
| 7. e
A = 3w — janx R
i - t—zﬁ T Bey? +4-n_1r-|n
3 128
% z;:. -F = 3{51&1 = 4‘&.'}‘(
z2y?_128
e e = Bex? +1296cw”
ZER " 2;3-11&#0

e i -1
(L' Lo = [28lars

bewd — 126 e
A% Lt) =0 = W
K3z (od Sr@En 2 Lt {ud _afpYae
'z=ff-+]ﬁ= Tl
Ty P x= lo
_#
m'{ﬂ) & Eﬁt‘{s} \""'-5
S) ®

—=‘=_—
g €5

_,ALDSQ'L-A-‘& YL A P L.dlngﬂ L =
3.61

Lu" 7

ﬂmemsimaws

-
L.

- "
ENSIENnS & 4“ » 4" x 2

Miniiion B Po s b A

SApmias (D2 £ 404)2) = 48 v




